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Fiber 2325, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.080.060.040.020.000.020.040.060.08

Fiber 913, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 1403, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 2788, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.5

Fiber 2138, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2323, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3 0.4

Fiber 4615, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.501.251.000.750.500.250.000.25

Fiber 956, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.50.6

Fiber 4169, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1250.1000.0750.0500.0250.0000.0250.050

Fiber 4883, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.350.300.250.200.150.100.050.000.05

Fiber 4479, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.1 0.0

Fiber 756, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 2563, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 4601, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4026, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.15

Fiber 1102, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 1287, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.41.21.00.80.60.40.20.0

Fiber 357, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

11.512.012.513.013.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

11.512.012.513.013.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.1 2.2 2.3 2.4 2.5
1e 8

Fiber 1225, dchi2frac= nan, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.040.020.000.020.040.060.080.10

Fiber 807, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.56.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 2372, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.050.10

Fiber 1034, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0 0.2 0.4 0.6 0.8

Fiber 4144, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.40.20.00.20.40.6

Fiber 2504, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 1301, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.60.50.40.30.20.10.0

Fiber 4593, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.0 0.8 0.6 0.4 0.20.0

Fiber 929, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 4326, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.251.000.750.500.250.000.25

Fiber 2023, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.20.4

Fiber 4622, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.21.41.61.82.02.22.42.62.8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.150.20

Fiber 1197, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 4165, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 2610, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 2772, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 4742, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 4687, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 4458, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 432, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.41.21.00.80.60.40.20.0

Fiber 2352, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.40.60.81.0

Fiber 2774, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.00.20.40.60.81.01.2

Fiber 987, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 2131, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.53.0

Fiber 753, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3 0.4

Fiber 820, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.40.6

Fiber 846, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.501.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.501.752.002.252.502.753.003.253.50

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.3 0.2 0.10.0

Fiber 2357, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 824, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.20.0 0.2 0.4

Fiber 2439, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.350.300.250.200.150.100.050.000.05

Fiber 935, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 4095, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.20.40.60.81.0

Fiber 4145, dchi2frac= 1.0


